

Nom:

N'he fet: /25

Correctes: /25. 1r ESO

. Càlcul mental /06

$\frac{2}{3} + \frac{9}{3} = \text{—}$	$8 - 12 \cdot 2 =$	$8^2 =$	$\frac{5}{3} \cdot \frac{1}{3} = \text{—}$	→
$\frac{5}{4} - \frac{6}{4} = \text{—}$	$7 \cdot (-1) - 2 =$	$(-3)^3 =$	$\frac{3}{2} : \frac{8}{4} = \text{—} = \text{—}$	→
$\frac{1}{4} - \frac{2}{8} =$	$-18 - 14 =$	$100^0 =$	$\frac{-1}{4} \cdot \frac{-9}{4} = \text{—}$	→
$\frac{3}{2} + \frac{1}{8} = \text{—}$	$26 : (-7 - 6) =$	$10^4 =$	$\frac{15}{7} : \frac{4}{2} = \text{—} = \text{—}$	→
$\frac{3}{12} - \frac{2}{4} = \text{—}$	$19 - (8 \cdot 2) =$	$2^1 =$	$\frac{1}{5} \cdot \frac{4}{-3} : \frac{3}{7} = \text{—}$	→